USAGE OF TENSES IN KOREAN LANGUAGE IN
COMPARISON WITH HINDI LANGUAGE

By GAURAV NIGAM

Korean Language is comprised of a number of grammar patterns and complex
sentence structures. However it is quite easy for Hindi speaking students to grasp the
complexities of Korean Language as Hindi is grammatically very close to Korean
Language. Thus localizing the Korean text for Indian students is a good way to make it
more comprehensive and interesting.

One of the most complex aspect of the language is TENSE. Because it clarifies the
time when the action has taken place and also the complement of result of that action. Also
it shows the directional complement of the action in a sentence. For eg.

A des s

| do the work

A= L= shar )\]o'IJJ—

I am doing the work

Ae dE ol

| did the work

A= ?—z] = ]’J4 /«}\/\}\018—
I was doing the work

AeE ds Fgolola

| had done the work

A AL slol 2

| have done the work

A dS Aol

| have had done the work
Ao dS T A

I will do the work

xﬁ‘—‘ o] o 3].‘7 O] 7%01]
I will be doing the work
A4S ds Ada

I would have done the work

All these sentences show the time aspect when the action took place and the complement of
result. ie, whether the sentence shows the result of the action or not.



The basic sentence structure of Korean Language and Hindi Language are similar.
® Both Korean language and Hindi language has the similar sentence structure, i.e

Subject + Object + Verb
o] + H0] + FA}

® And the position of tenses are also same in this type of sentence. They stick to the
verb root.

However in the complex sentences there is a little difference in expression of
Korean language and Hindi language and the position of tenses differs in both.

PRESENT SIMPLE TENSE

|
e KOREAN LANGUAGE e HINDI LANGUAGE

e —verb + vwY T} or e —verb root + aydt g,
verb root + ¢ /°} 8 A/edt 21 ay/et 2
(according to first
person, second

person and third
person respectively)



EXAMPLES

3t ottt I g
Ae e ey Hole

gd SGIR Sl 8l
U= A el Yo/ 7ta

al ord A ferdt 8
IUE ATE Y The

As we can see except the particles that differ for subject, object, location and direction in
Hindi and Korean Language the basic structure of the sentence is similar. The tense in both
is after the verb root.

PAST SIMPLE TENSE

In Korean Language the verb root will be followed by %} / %! and the ending as
EN o)

sUToroj &

However Hindi language is a bit complicated here. If we use — verb root + dr /et it
a /et ot ar en/edt <t (according to first person, second person and third person
respectively) it rather becomes past indefinite tense than past simple tense. eg. #
aSIR ST e if translated in Korean, becomes #] &= A] 7ol 71 gl T},

Keeping this in mind we rather use verb with a post position particle a1 that gives us
an equivalent to past simple tense in Korean language. While using a1 with the verb
root if

we have a object in the sentence then we have to use another particle us with the subject.

eg. dot ol RN (L= S 9 A oh)
d aeIR oRI (W= A7l L)

Of course there are exception in many verbs in case of Hindi language
eg. dol 3A & (L= L AFES BET)



FUTURE SIMPLE TENSE

L —
e KOREAN LANGUAGE e HINDI LANGUAGE

e Verb Root + 7 e Verb Root + 31 / Fail,
e Verb Root + & 3e1 / 3teft, vom / oot
A o)t} (according to first

person, second
person and third
person respectively)

The basic sentence structure, as we see, remains the same in both Languages.
EXAMPLES
® i dIR Sl
A= Aol A A d e (7Hle] 8)
® A Xpal SI3IPI
U+ 8hal 2 A o 2 (we usually don’t practice %1 with second and third person)



PRESENT PERFECT TENSE

® There is not much difference between simple past tense and present perfect tense in
Korean language.
® cg. Yesterday he came late
o Al= 17k = A skl &
® He has come
27k kol 8

Notice that in both sentences the past tense in the verb is used in same way.

In Hindi language if we are talking directly about the person or his action. Means if we
are not using any object in the sentence we use verb root with a post position srII

a1 oAt ar da skm 8
2 Abge ol Aol gkt

al 31 SRl &
1 Abgo) g

In case we have an object in a present perfect sentence, we use the post particle fcrn
which shows the completion of the action. Again we have to use the particle us with the
subject.

301 3 DEl B ORI &
TIAMES AS ) o] L.

o1 oo Jar form &
e ghe el



PAST PERFECT TENSE

KOREAN LANGUAGE
® Verb Root+ S}/ + 3 + vy TtHo| Q&
® cgitoiga, doa

HINDI LANGUAGE
® Hindi Language uses the verb in same sense as that in present perfect tense.
However the present aspect particle 3 is replaced by past aspect particle e

EXAMPLES

® I IR SRII oI
U= Al Zkslol e

® 3Jol @ fdr o
a7 LS ol e

FUTURE PERFECT TENSE

Future Perfect Tense is normally used for guessing or predicting the situation. In both
languages, for Future Perfect Tense, the verb is followed by past particle and then future
particle.

In Hindi we use verb root followed by ger in case when we don’t have an object and fern
in case we have an object in the sentence.

This is followed by the final verb 8ot in its future form. ie, 8on

In Korean Language, the verb is followed by past particle /1 in sequence with the future
particle %)

EXAMPLES
® ocl dd dl TR Ugd Jobl abl
WA7HA 27k el EFehg Aol 2
@ 9l A 3ol ol A ORI 2Pl
A7 Aol 2

® 3PICl ABlol AD IRAol B WRIG RN Bwll
ohg 27k AFE Sk Aol



PRESENT CONTINUOUS TENSE

S ——
e OREAN LANGUAGE e HINDI LANGUAGE
e Verb root + 3 3} 7} e Verb root +3a1 g/l g,

- 3%')- o ’_:')L = & é\; j_"'f %
e [n this case the verb R =, w e/ @

root remains the (According to the

same with 3 attached first person, second

to it and the tense person and third

will affect ) = person respectively)
EXAMPLES

® dl B B W S
O dE s dsyy

® Jmonzalg
A el 7k sy

® I IA R W 8P
U= Fols shal slsu e



PAST CONTINUOUS TENSE

It is expressed same as Present Continuous Tense. The root verb remains same in both. The
only difference is that in Korean Language, $)t} will be 1%t} and in Hindi, present
depicting particle & will be replaced by past depicting particle e

EXAMPLES

® 3 mGmw@a
A el 7k gl

@ a1 ol a1 38t ot
U7 Ere Ha sy

FUTURE CONTINUOUS TENSE

Future Continuous Tense, like Present Continuous and Past Continuous, remains the same
except the last particle in Hindi which becomes &pt and in Korean %1t} becomes ) 21 Th
or 1= %l ©] Tt} which changes the sentence into Future Continuous Tense

EXAMPLES

@ I dloll 1 28l abl
b M Qe Ads

® ol 3 SR S 28I Bl%oll
Hd A= Aol 7L & Ao &

® Jl dEl B2 I8l Bpll
b9 B 9 Adl e

® (the sentences in Korean for Future Continuous Tense are grammatically right but
not much used expressions in Korean Language)



USING THE TENSES BETWEEN THE COMPLEX SENTENCES

Complex sentence are the ones which are made by combining two simple sentences. In a
complex sentence that has more than one verb, if the tense is to be used in the verb which is
not ending part of the sentence, we differentiate the past, present and future tense by using

L, +, and 2 in the action verbs respectively. In Hindi these types of sentences are slightly
different. Because unlike in Korean, the first sentence remains as it is as a clause.

EXAMPLE -1

® SIMPLE SENTENCE 1

dl &l R TR 3R o
L AFE oAl Aol kol .

® SIMPLE SENTENCE 2

dl Xpet i AR AT TGl I
2= St w49} o] FRYLe] 8

® COMPLEX SENTENCE

Sl el 3R &R 3R o Al Pl 4 AX A TGl I
of Al Fell 2 AbghS: stal w A 9} o] FF-F3o

EXAMPLE -2
® SIMPLE SENTENCE 1

dl 3R JSA 3l SR S
T A2 A 7 ek Ay o

® SIMPLE SENTENCE 2

dl Bl MW TR 3T
Od= WY Ho & Ad .

® COMPLEX SENTENCE

Sll ool M TR 3IQ9I Al IR A 3l SR &
U ol & A2 Al 7 318 9 Y o




EXAMPLE -3

® SIMPLE SENTENCE 1

dl 3¥ Blcal 3 el A1 38l &
S AbgEe A Edlel A W Bt glef s

® SIMPLE SENTENCE 2

al 3 Al Sl
T A ;o] Ao a

® COMPLEX SENTENCE

Sl 3A @ledl 3 kel 3 38l & dl 1 A1 SIosl
A SEAAM TS Hal YA A9 Zo] 4 Ao e

CONCLUSION

Korean Language and Hindi Language are grammatically similar to each other and so are
their sentence structures. Also the tenses follow same rules in both. Thus it is very easy to
explain tenses in Korean Language to Indian students by quoting similar examples from
Hindi Language which gives them same feeling regarding the structure of the sentence and
helps them analyzing the sentence in a better manner.
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